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Ol X XQ FXKE WE AW (6.22~6.26)
=25 =t -Ps BNE:3 o8 e Y X (EHA) O] A
68 22 e, REE Uz Y9
al= 7| E3=EHOHOH(SAAR) 5¢ A 5.35M 5.09M
68 23y = HSBC M=% PMI 6P B 49.6 49.2
+g FE2E HZY PMI 6P B 52.5 52.2
FEE HHEL PMI 6P B 54.4 53.8
al= FHFA ZREHDFAX|2=(MoM) 48 B 0.3% 0.3%
LTS BHEHOH(SAAR) 5¢ A 546K 534K
HT=2(MoM) 5¢ A -1.8% -1.5%
ZE AZEOIA A
6% 24Y +g =Y IFO 7| et E X 6 B 108.0 108.5
0= GDP(QoQ,SAAR) 10T A -0.2% -0.7%
MBA 27| X] L8 X|=(WoW,SA) 68 3F B NA -5.5%
6% 25 ot= A H|XF2 K| 6 C NA 105
S, EU FY2I9] (6/25~26)
aj= PCE(MoM) 5¢ B 0.1% 0.1%
At A YR A(SA) 6% 3x B NA 267K
68 26 o2 2HIXE2HYoY) 5¢ B 0.4% 0.6%
= FEE 23a M3(YoY) 5¢ C 5.4% 5.3%
al= QAT A H|XpA 2IX] 2 68 F B 94.6 94.6
X HeEx A
F QL= BHXES S BARF HCZ2, A= FHEY 2 =50| & SEREZ2 LA 7I1E.
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